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SECTION - A
( Prose )

L. Multiple Choice Questions : Sx1=5
1. If you are so clever, why are you so poor ?

Here the word ‘you’ refers to

(A) lawyer (B) businessman

(C) administrator (D) scientist.

Ans. :

Remb. | (D) — scientist 1 1

2. “Discipline is a thing of the past, Sir. It’s you or us.”
This statement was made by

(A) Pepe (B) Guillermo

(C) Francisco (D) Pedro.

Ans. :

Remb. | (C) — Francisco 1 1

XX (2'7)-1326-PR(D) [ Turn over




n. jec-
1$os Ob.Jec Value Points Marks Total
. tive Comp. | Exp.
3. Don Anselmo refuses the double amount offered by

the Americans because

(A) he was a rich man

(B) he was a man of principles
(C) he was an arrogant man

(D) he wanted more amount.

Ans. :
Comp. | (B) — he was a man of principles 1 1
4. The person who helped Baleshwar Mishra to carry

Roma Talreja to the hospital was
(A) Dinesh Talreja (B) a tempo-truck driver
(C) Anil Agarwal (D) a bus driver.

Ans. :
Remb. | (B) — a tempo-truck driver 1 1

5. The bird of happiness was guarded by
(A) three monsters (B) two monsters
(C) the soldiers (D) the lion.

Ans. :
Remb. | (A) — three monsters. 1 1

IIL. Answer the following questions in 2 - 3 sentences
each : 6x2=12

6. What makes the scientists pursue science in spite

of low income ?

Ans. :

Comp. | — For a scientist major reward discovery itself.

— Instead of money he gets freedom, camaraderie

— A great feeling of uncovering one of nature’s

mysteries
— Real satisfaction comes from uncovering the 1 ]
nature’s mysteries. 13 2 2
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Comp.

App.

App.

How was Swami honoured by his classmates,

teacher and the headmaster ?

Ans. :

Congratulations were showered on Swami after

the burglar’s incident
The classmates looked at him with respect
His teacher patted his back

The headmaster said he was a true scout.

Don Anselmo had great love and concern for the

children of Rio en Medio. Support your answer.

Ans. :

Don Anselmo had great love and concern for

children.

Whenever a child was born in Rio en Medio he
planted a tree for the child.

He allowed the children to use his orchard

After selling his orchard to Americans he sold

only land but not trees.

Why did Swami wish that the tiger had not spared
the boy ?

Ans. :

Swami had to sleep alone in the office room

it was frightful

this is because of newspaper report and the
boy

sleeping alone in office room pained Swami
and made him angry

for all troubles he thought the boy was

responsible.
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10. How would you say that the appearance and

manners of Don Anselmo was quite unusual ?

Ans. :

Comp. Don Anselmo was a man of unusual manners
and appearance

— always wore old, green and faded coat

— his gloves were old and torn

— his finger tips showed through them

— always walked with one kin

— whenever he visited others he used to remove

his hat,
— carried a cane, but it was only the skeleton of a
worn-out umbrella. 1 % % 2
11. What makes you think that Satish became popular
all over the world ?
Ans. :
Comp. | — Satish Gujral is the foremost artist of our
country.
— Well versed in painting, sculpture, and
architecture
— works exhibited in prestigeous museums like
Museum of Modern Art, New York.
— The Hiroshima  Collection, @ Washington,
National Gallery of Modern Art, New Delhi.
— awarded the order of crown for his design of
the Belgian embassy. 1% % 2

XX (27)-1326-PR(D)




CCE PR S 31-E
1?(:;. Otbij: :' Value Points Comll\)a.ark;xp. Total
I11. Read the following extracts and answer the
questions that follow : 4x3=12
12. “Chacha, can I borrow your mobile ?”
(@)  Who is the ‘chacha’ referred to here ?
(b) Why did the speaker need the mobile ?
() After borrowing the mobile, who did the
speaker call ?
Ans. :
Comp. | a) A tempo truck driver 1
b) Baleshwar wanted to inform about the accident
of Roma Talreja to Dinesh Talreja. 1
c¢) Dinesh Talreja. 1 3
13. “Give the orders to heave to.”
(@) Who gave this order ?
(b) What do you mean by the phrase ‘heave to’ ?
(c) Why did the speaker give this order ?
Ans. :
Exp. a) Columbus 1
b) to stop 1
c) They have discovered the new land after a
tedious ( long ) journey. So, he ordered to stop
the voyage. 1 3
14. “Will I ever make it.”
(a) Who does T’ refer to ?
(b) What does ‘it’ refer to ?
(c) Why did the speaker feel so ?
Ans. :
Comp. | a) Wangjia 1
b) It refers to bringing the bird of happiness for
the happiness of Tibetan people. 1
c) The first monster made Wangjia to walk on the
scree for three hundred miles. His feet were cut
to pieces — his hands were torn to shreds. 1 3
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15. We have made a discovery.

(@) Who does the word ‘we’ refer to ?
(b) What was the discovery ?
(c) How did they respond after the discovery ?

Ans. :
Comp. | a) ‘We’refers to the Americans. 1

b) The discovery was that Don Anselmo owned

almost double the land. 1
c¢) They decided to offer him double the amount. 1 3
IV. Answer the following question in about 8 - 10
sentences : 4
16. Watching of bird by Satish Gujral was a turning
point in his life. Support this statement with your
reference.
OR

Pandit Ravishankar’s visit to aunt Susheela’s house
is a remarkable incident. Explain this statement.

Ans. :

Exp. — One day Satish watched a bird in the far
garden.

— The bird was energetic and active

— It attracted him

— It had a longish tail and a black crest

— It had restless energy

— It flew away

— He sketched the bird

— Drawing became his passion.

— He filled his page with doodles.

— A hobby in the beginning became his

profession

— He is accomplished in art forms like painting,

sculpture, architecture.

— He became a foremost artist. 2 2 4

OR
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Pandit Ravi Shankar, maestro, a great sitar
player — a world famous musician — such a
person visited aunt Susheela’s house for the

sake of Anant.
Anant, a boy suffering from cancer had a wish
to listen to Ravi Shankar —play Sitar.
Pandit Ravi Shankar and Tabla player Ustad
Allah Rakha plays for Anant, a common boy.
When Smita approached him he was
generous
A world famous musician coming to play for a
boy like Anant shows Pandit Ravi Shankar’s
generosity, simplicity.

— The neighbours could not believe their eyes.

V. Poetry
Multiple Choice Questions : 3x1=3
17. In the poem I Am the Land’ the lines

YOU CANNOT PUT A FENCE
AROUND THE PLANET EARTH

suggest the land’s

(A) anger (B) self expression

(C) self assertion (D) suffocation.

Ans. :

Comp. | (C) — Self assertion 1 1
18. The musical instrument that Jazz player uses is

(A) flute (B) bugle

(C) saxophone (D) sitar.

Ans. :

Remb. | (C) — saxophone 1 1
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19. According to John Masefield we should always

laugh and be merry because

A) we are human beings

(

(B) our life is too long

(C) we are better than animals
(

D) our life is very short.

Ans. :
Comp. | (D) — our life is very short. 1 1
VI. Answer the following questions in 2 - 3 sentences
each : 4x2=8
20. Why, according to the poet John Masefield, has God

created man ?

Ans. :

Comp. According to John Masefield we should always
laugh and be merry because

— God made heaven and earth for joy.

— Life is short

N[ —
| =
N

— Should enjoy the life.

21. According to Norman Nicholson how would his life

be in space ?

Ans. :

Comp. According to Norman Nicholson his life would
be different in space from earth.

— In space there would be no friends, no visitors

— in space there would be no letters for him

— no one would disturb him

N[ —
N =
N

— life would be like in gaol.
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22.

23.

VII.

24.

Comp.

Comp.

Comp.

Whilst thus I sing, [ am a king

Although a poor blind boy.

What does the blind boy want to convey through

these lines ?

Ans. :
The blind boy pacifies himself

— accepts his disability

— he can be happy in spite of his disability

— he doesn’t have inferiority complex

— he is a king when he sings.

Bring out the contrast between people and the

mother earth as suggested in the poem I Am the

Land’.

Ans. :

— The mother earth is very patient

— The human activities suffocate her

— She asserts herself

— But human beings put a fence around the land

— They say they own her — fights for the land.

Read the extract and answer the questions that

follow : 3x1=3

“And earthly power doth then show likest God’s.”

(a) What does earthly power mean ?

(b) When does earthly power become divine
power ?

(c) What are the symbols of earthly power ?

Ans. :

a) Temporal power

b) When mercy seasons with justice, then earthly
power becomes divine power.

c) Sceptre, throne, crown are the symbols of

earthly power.

XX (27)-1326-PR(D)
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VIIL. Quote from memory : 4
25, Youtalk ....oooviviiiiiii
......................................................... night ?
OR

THEN WE e
.............................................................. clear
Ans.

Remb. | You talk of wondrous things you see,

You say the sun shines bright ;

I feel him warm, but how can he

Or make it day or night ? 4 4
OR

Then we kissed the little maiden,

And we spake in better cheer,

And we anchored safe in harbour

When the morn was shining clear.

IX Answer the following question in 8 to 10 sentences :
4
26. ‘Physical appearance of a person has nothing to do

with one’s talent.” Justify this statement with
reference to Jazz player’s physical appearance and
artistic talent.

OR
Summarise the essence of ‘Grandma Climbs a Tree’
in your own words.

Ans. :
Exp. Jazz player was physically awkward
— Compared to an ancient mariner

— has a rough unshaven face and sagging

stomach
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wears a faded blue shirt, a loose necktie and

an old jacket

shoes are run down

has great artistic talent

plays an alto saxophone

when he plays he is filled with new life spirit
is no longer a man but a bird

sent here to preach the Black Gospel of Jazz

his artistic talent outscores his physical

appearance.

OR

Ruskin Bond’s Grandmother was a genius

she could climb the trees spreading or high.
could climb the trees at the age of 62
learnt from her brother

family members asked her to stop climbing the

trees
said she would grow disgracefully

once she climbed the trees ; could not come

down
the doctor advised her to take one week rest
this was hell for her

demanded a house on the tree top

obedient son fulfilled her wish

the poet and the grandmother shared the
sherry

grandmother is unique and humorous

character.
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Supplementary Reading

X. Answer the following questions in 2 - 3 sentences

each : 2x2=4
Why were Babu and Manju a bit disappointed with
the way students were marching ?

OR

Write about the hardships of Dicky Dolma’s life at
her early age.

27.

Ans. :

Exp. Baby and Manju were disappointed because
— there were no slogans

— no shouts

— only a peaceful march

— no violent protest

N~
N~
N

— no argumentation with the police.
OR
Dicky Dolma had to face hardship and challenges
— lost her mother when she was eleven
— she lost her brother — father bedridden

— she had to face financial problems.

How do you say that Hanif was a talented person ?
OR

Dr. B. R. Ambedkar describes the methods of civil

disobedience, non-co-operation and satyagraha as

the ‘Grammar of anarchy’. Comment on this

statement.

28.

Ans. :

Exp. Hanif was a talented person.

— dabbled in art, sketched very well

— made beautiful cards out of waste material

— read a great deal

N[ —
| =
N

— loved playing drums.

OR

XX (27)-1326-PR(D)
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Dr. B. R. Ambedkar calls civil disobedience,
non-co-operation and satyagraha as the
grammar of anarchy because
— these methods were used against the British
empire when we were in slavery
— we are in democracy
— should use civilian methods
— a significant opinion in the context of public
agitation.
XI. Vocabulary
29. Combine the word in Column-A with its
collocative word in Column-B :
Column-A Column-B
swift [ line, action, money, bag ]
Ans. :
Remb. | swift action 1 1
Give one word for : 1
30. The state of being alone.
Ans. :
Remb. | solitude 1 1
Fill in the blank with correct prefix to get the
31. opposite of the underlined word : 1
All men are mortal, but great men become ...........
through their deeds and service to humanity.
Ans. :
Remb. | immortal 1 1
Which one of the following has only one syllable : 1
32. father, school, necklace, again.
Ans. :
Remb. | school 1 1

XX (27)-1326-PR(D)

[ Turn over



n. iec-
1$ Ob.Jec Value Points Marks Total
os. tive Comp. | Exp.
SECTION - B
XII. Reading

Read the following passage and answer the
questions that follow :

Once Narendra and his friends sat in meditation. A
cobra came gliding along the ground. His friends
were frightened and ran away, but Narendra stayed
where he was. They shouted at him but he did not
hear them. After some time the cobra crept away.
What a powerful concentration of mind Narendra
had ! Later his friends asked why he did not ran
away. He replied “I do not know anything about the
cobra. I was feeling happy.”

33. Why did Narendra’s friends run away ?

Ans. :

Comp. | Narendra’s friends were frightened to see a cobra
coming towards them. So, they ran away. 1 1
34. Which word in the above passage means ‘to move
smoothly and quietly’ ?

Ans. :

Comp. | gliding 1 1
35. Narendra stayed where he was though his friends

ran away. What does this act tell us about

Narendra ?
Ans. :
Comp. | Narendra had powerful concentration of mind. 1 1

36. What is the reply given by Narendra to his friends
for not running away ?

Ans. :

Comp. | “I don’t know anything about the cobra. I was

feeling happy.” 1 1

XX (27)-1326-PR(D)
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XIII

37.

38.

39.

40.

Comp.

Comp.

Exp.

Comp.

Read the following conversation and answer the

questions that follow : 2x1=2

Wasim : It seems you’re a bit down, Kiran.

Kiran : Yes, Wasim. I lost my purse in the
library.

Wasim :  Sorry to know that. Can I lend you
some money ?

Kiran :  It’s all right. I can manage.

Wasim :  Don’t bother too much Kiran.

Kiran :  Thanks for your concern.

Which word in the above conversation gives the

opposite of ‘borrow’ ?

Ans. :
lend

Why did Kiran express his gratitude to Wasim ?
Ans. :

Wasim had great concern and empathy for Kiran.
He encouraged him.

Rearrange the jumbled words into a meaningful
sentence : 1
are / clever / how /you /! /

Ans. :

How clever you are !

Look at the two pictures. Write a sentence using

‘taller than’ based on what you see : 1

Vinutha Saritha
Ans. :
Vinutha is taller than Saritha
XX (27)-1326-PR(D)
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XIV. Writing

41 Imagine that you are Rahul / Sudhiksha, studying

in Govt. High School, Ragibommanahalli, Koppal.
Write a letter to your friend inviting him/her to
attend your sister’s marriage during summer
holidays.

OR
Write a letter to Panchayat Development Officer to
take necessary action for proper disposal of garbage
in your locality.

Ans. :
Exp. — Format 2
— Body of the letter 2 4
42, Given below is a profile of Mrs. Roopashree. Write a

paragraph using the clues given below : 4

Name : Mrs. Roopashree

Age : 38 years

Quualification : M.A. ( English ), M.Lib.

Occupation : Assistant Librarian at St. Joseph’s
College, Madurai

Family : Small family, husband, a lecturer,
son — 6th standard student.

Hobbies : Drawing, watching birds

Reasons for

popularity : Honest lady, helps poor children.

OR

Write a paragraph, using the clues given below. You
may add some more points if necessary :
Robert Bruce — king of Scotland — waged war —
defeated in the war — driven out of the city — hid
himself in a cave — saw a spider trying to build web
— fails in its attempts — fails many times —
succeeds at last — king saw this — learnt the
lesson — once again waged war — succeeded.

Ans. :
Exp. — Inclusion of all points 2

— Language accuracy 2 4
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43.

44,

XV.
45.

Exp.

Exp.

Comp.

Write an essay on any one of the following topics :

(a) Save forest, Save earth
(b) Television

(c) Swachh Bharat Abhiyan.
Ans. :

Sequence of ideas

Language accuracy

Editing

The following paragraph has two errors. Edit the

paragraph and rewrite it in the answer-book. Clues

are given below.

2

Suresh arrive at Bangalore City Railway Station in

the evening. He intends to go to chinnaswami

stadium. He doesn’t like to take either a bus or an

auto-rickshaw. He decides to go on foot.
Clues :

(a) Verbal mistake to be corrected

(b) Capital letter to be used.

Ans. :
a) Arrives
b) Chinnaswami Stadium
GRAMMAR ( Language Use )

John plays football, ................. .

The question tag to be used above is

(A) does he? (B) didn’t he ?
(C) doesn’t he ? (D) don’t he ?
Ans. :

C) — doesn’the?

XX (27)-1326-PR(D)
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46. Read the conversation :
Harshitha :  What are you doing, Anushree ?
Anushree : I am writing a story.
The passive form of the underlined sentence is
(A) A story is being written by me.
(B) A story was being written by me.
(C) A story will be written by me.
(D) A story was written by me.
Ans. :
Comp. |A) — A storyis being written by me 1 1
47. Read the conversation and identify the infinitive : 1
Chaitra : Where are you going ?
Gagana : I am going to Melukote to see the
temple.
Chaitra : Is it ? I will also come with you.
Gagana : Okay. Let us go.
(A) going (B) to see
(C) is (D) come.
Ans. :
Comp. | B) — tosee 1 1
48. Read the conversation and fill in the blank choosing
the correct ‘If Clause’ : 1
Anitha : Oh, My God !
Hema :  What happened Anitha ?
Anitha :  We missed the train.
Hema . If we had been earlier, we .................
the train.
(A) would have got (B) shall have got
(C) will have got (D) must have got.
Ans. :
Comp. |A) would have got 1 1
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49, Fill in the blanks with appropriate preposition and
article : 2 x % =1
Pramod is .......c......... engineer. He prefers coffee
................. tea.
Ans.
Remb. | an, to 1 1
50. Fill in the blanks using the appropriate linking
words given in brackets : 2 x é =1
Jayalakshmi ................ Rohini are sisters. Rohini is
active ................. Jayalakshmi is lazy.
( that, and, but, if)
Ans. :
Remb. | and, but 1 1
S1. Combine the following sentences using the word
given in the brackets : 1
The flight was delayed. The weather was cloudy.
(as)
Ans. :
Comp. | As the weather was cloudy, the flight was delayed. 1 1
52. Fill in the blanks using the right form of verbs given
in brackets : 2
While I ..., ( be ) in Mysore last week,
| PP ( meet) Darshan in the Mysore Palace.
Ans.
Comp. | was, met 2 2

XX (27)-1326-PR(D)

[ Turn over



1?(:;. Otbij: :' Value Points Comll\)a.ark;xp. Total
53 Read the following conversation and rewrite it into a
) reported speech : 2
Nagesh :  Good morning, Mahesh.
Mahesh :  Good morning, Nagesh
Nagesh :  Where did you go yesterday ?
Mahesh : I went to Bangalore to meet the
doctor.
Nagesh greeted Mahesh and asked ..................
Mahesh replied that ...,
Ans.
Exp. Nagesh greeted Mahesh and asked where he had
gone the day before.
Mahesh replied that he had gone to Bangalore to
meet the doctor. 2 2
XVI. Reference Skill
54 Arrange the following words in the order in which
they are found in dictionary : 4 x % =2
dearth, decompose, debacle, decode.
Ans. :
Exp. dearth, debacle, decode, decompose 2 2
55. Decode the following SMS into a sentence : 1
Did u ¢ d match ?
Ans. :
Comp. | Did you see the match ? 1 1
56 Choose the correct one and write it.
Madan wants to list out the synonyms of the word
‘bliss’. So, he should refer toa / an 1
Thesaurus, Index, Encyclopaedia, Atlas.
Ans. :
Comp. | Thesaurus 1 1
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